Oppg 1 b)

Lix)="1cosx+2isin(x)

2 1
sin (x) + cos (x)

- L(x) :=

2 L'(x")=0

Mlos: {x= —128.44,x =51.56}

3 L(51.56)
= h.74

4 574 -(2/sin(51.56))

= 3.66

5 +/(3.66%-17)

= 3.52



Oppg 2a og b)
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Oppg 2c og d)

D(t)=6.635in(0.0172t- 1.39) + 12.5

D) . 993 . (43 139 25
- D) := 100 2500 100) T 2
2 g(ty=14

- g(t) == 14
3 | D=g

MLes: {t =94.08,t = 250.2}

4 D(t)=0t=1

MLes: {t=80.81}

5 D'(80,81)
= 0.11

Oppg 3a)
flx)=¢

- f(x) := x2

alxy=Linje[(a fa}), (b,fb))]

~ g(x):=—ab+ax+bx

T:=IntegralMellom[ag, T, a, b]

L p. —@+3a’b—3ab’+b’
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Faktoriser:




Oppg 3b)
A=(a,8%)

- A= (a,azj

B:=(b,b*)

2
- B = (h?hzj
C:=(c,c®)

3

b 2 2ab h?
ByttUt, c=(a+b)2: C := (a-|2- ,a + i + )

AB:=Vektor[A, B]

4 b—a

AC:=VektorlA, C]

i 3 —a
— AC — mﬁh‘ﬁ_az

S=12*(AB=AC)

3
Faktoriser: H
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Oppg 3c)

T=(-(a-bF) /G
1 1
- T:= ~ % I:a—l.'uj3
S=(b-afe
2 1
-~ §:= 3 [—E|+IJ]3
TiS
3
4
3
Oppg 4)

LasODE[y=0.0006*1200-y), v, t.(0,1]]

~ y=—1199 ¢—3um 4 1200

600 =-1199 &"-3t/5000) + 1200

Mles: {t=1153.86}



